
rjtPjk; - $l;Ltl;b 
flDf;fhf my;yJ itg;Gg; gzj;jpw;fhf $l;L tl;b Kiwapy;  tl;b fzpf;fg;gLk;. mjhtJ 
xt;nthU Mz;bYk; tl;b fzpf;ifapy; njhlf;fg;gzj;jpw;F khj;jpuky;y Mz;L NjhWk; 
ngwg;gl;Ls;s tl;bf;Fk; tl;b toq;Fk; Kiw $l;L tl;b vdg;gLk;. 

cjhuzk;: 

Mz;Lf;F 5% Md $l;Ltl;bf;F &gh 10000 flid ngw;w xUtu; 2 Mz;LfSf;Fg; gpd;du; 
fldpypUe;J tpLgLtjw;F nrYj;jNtz;ba nkhj;jg; gzk; ahJ? 

fldhfg; ngw;w gzk;          =  &gh 10000 

Mz;L $l;L tl;b tPjk;        =       5% 

/ Kjyhk; Mz;Lf;fhd tl;b   =         5/100  X  10000 

                                                                     =      &gh 500 

Kjyhk; tUl ,Wjpapy; nkhj;j gzk;     =      &gh 10000 +  &gh 500 

                                                                                    =      &gh 10500 

/ ,uz;lhk;  Mz;Lf;fhd tl;b   =         5/100  X  10500 

                                                                          =      &gh 525 
,uz;lhk; Mz;bd; ,Wjpapy; fldpy; ,Ue;J tpLgl nrYj;j Ntz;ba nkhj;j gzk; 

;                                                                                                                            =      &gh 10500 +  &gh 525 

                                                                                                                            =      &gh 11025 
,jid gpd;tUk; KiwapYk; fhzyhk; 

                          nkhj;jg; gzk;    =      &gh   10000 X  105/100  X  105/100       

                                                                                                           =        &gh 11025 

tpdh 

8% Mz;L $l;L tl;bf;F Fwpj;j njhifg; gzj;ij fldhf ngw;w xUtu; ,uz;lhk; Mz;bd; 
,Wjpapy; nrYj;jpa tl;b &gh 432 vdpd; mtu; ngw;w fld; njhif ahJ?  

,uz;lhk; Mz;bd; ,Wjpapy; nrYj;ja tl;b    =      &………………. 

Mz;Lf; $l;L tl;b tPjk;                   =      ………………. 

Kjyhk; tUl ,Wjpapy; nkhj;j gzk;                       =      100/8  X  432 

                                                                                                     =      &………………. 

/ fldhfg; ngw;w gzk;                    =      100/108  X  ……………… 

                                                                                                     =      &  5000 
gapw;rp 9.2 I nra;f. 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 3 


